(#=X3-1) EANG FRBEMTRE
FERREEICE T I RXEEAEAOZHUNDEBAFIC & ZHHKRR GEF)
RAITHEENBTR XHDOEHBFE R{TEE X{TH
(BHRBRBEESR =& 200,000 |4/30-6/25
(81) BARERIH= EERZHENH 229,000 |4/30-5/28-6/25-9/16-10/29-2/14
() BRER & 3 Al R 222,495 |3/25
() EFEHRBEZER Bl )L 442470 |6/11-7/15-7/30-12/10-12/24-1/28-3/30-4/8-4/15
ERXEME 105,000 |8/27-9/10-2/14-3/11-3/25-4/15
e E M 34,500 |5/28-2/25-4/8
B & 5,380,120 |3/25
BT 3R & A R B S 889,770 [4/30-5/28-6/25-7/15-9/10-2/25-3/25
() X EEER E=g- 30,000 [5/17
FREME 53,100 |8/27-9/10-11/12-2/14
ZERENFHERH 44,000 |7/15-8/13-11/12
e E M 156,975 |8/27
(B ElEELEERRE 2— EERFEERFI AR 309,000 |6/11-7/15-12/24
(B BiEH= =& 10,000 |5/28
(B EREMHE =& 100,000 |6/11
BREEFHH 895400 [5/28-6/11-7/15-8/27-10/15-11/26-12/10-1/28-3/25-4/15
(M) mRERuA=REHGE e 19,600 |5/28
(BH) BARITUIG = =& 500,000 (4/30
(B) BART—2EEHS =& 2,000,000 [6/11
(BY) BRI S =& 10,000 [6/11
() BARANSBITBH R =& 10,000 [6/11
e mE& 40,000 |8/27
(M) REBRULH G HER 3,676,000 |5/28-8/13
(#) TR BUEHEER S & 100,000 [4/30
) L—v—2% Ep 1k 171,570 (8/27
(#) BB IBRAT A TER & 57,000 |6/25-7/15
Ep 1k 100,800 (5/28
() IEAMEER =& 31,000 [6/25
Fmx e 210,000 |5/17-7/30-10/29-11/12-12/24-3/25
FREFMEBETEN 220,000 [10/29-11/26
() EHRI EBHEHER X RS 8,820 [3/25
() RHRUEER =& 50,000 [2/25
FREME 59,000 |7/15
Ep &l ERe 13,100 [2/25
B & GE RS 135,240 |3/11
MR EFEEFER 141,980 |2/25
() BERILER SEHEMBESH 18,000 [2/25
(1) BB E MRS 2% 40,000 [6/25
() FHRBERNEZEER & 1,800,000 |5/17
(R EREER SE 1,300,000 |6/11-7/15-7/30
(1) BRD ER S EEESH 12,000 [8/13
(#) BRYVE—FEUIUT RS 2% 20,000 [6/25
(1) B AR EfEH= =& 37,000 |6/25
() BXRYEER S8 105,000 |5/28
S EEESH 90,000 |10/29
() FEHE FREGA 10,584 |6/25
()NHKI =79 H—E R BhR & 5,245,000 |4/22
(#1) ATENEEFES EREME 24,000 |5/28
B 40,000 (5/28
SEEFMRERS 34,000 [6/25-3/25
(1) BAREE®RBE =& 100,000 |6/25
(B RIWFATATIREE2 42— =& 200,000 [5/17
(B) B2 LR BA =5E 367,800 |7/15
(B4) CELREIAH FH# 6,000 |4/30
(BH1EEH =58 252,683 [10/26
(B) BETE UL 2 AT I 2o &R T HEEE A A H R 1,683,358 [10/29-11/26-12/10
(M Z2REZZFEHRE2— EEmRER 101,080 [2/14
(1) BB EH = & 3 Al R 4€ 63,000 [1/14




